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(A= x ., BF) ik Slaka

1 h.h Bl BEsE /D

2 295 tt 7K FFHT HEE /N
3 269 3-1 Hhom FEINER
4 261 K. M kI F'.%E'E/J\"?'s*z
5 243 TY tREITh TEENFR
6 236 ky 7K FFHT EE/NER
7 233 TR tREITh TEENFR
8 232 HK tREITh TEENFR
9 220 vk 7K FFHT HEE /N
9 220 H.Y RFH BREE/NPIR
11 215 ENEERS wFFH BB /NVERR
12 212 =%405 B LU = EINER
13 206 S.H INVET = EUNERR
14 204 A. M kI 8 B /NP A
15 201 T.Y kI M8 B /NP AR
16 200 2-22 Hhhom £EINER
17 190 ay 7K FFHT ,utlsll\*?'s*a
18 187 HR AT TEENER
18 187 FE B3 5 Th Bz /R
20 186 vt K HT E LNV
21 185 th K HT E LNV
22 184 = H = [EfT It B /INERR
23 182 kt K HT bR
23 182 4212 AT ES/hE
23 182 K. K kI 8 B /NP A
26 180 YN RFH KE/NER
26 180 D. F kI B B /N A
28 173 1-7 AR Ei T =EfE/NER
29 165 4123 % i AT EEINE A
30 155 I-M = JRHT BPNER
31 152 HR T TEENER
32 150 h.r B LU AN

33 146 2-5 AT KEF/DNFR
33 146 NR INVET & BH/INERR
33 146 EH = = EET FH/NER
36 145 NY AR TEE/NER
36 145 FrRAFEE—FF12 HET EHE/INFER
38 144 Hh = [EHT It B /INERR
39 143 HE2 fi=Cauit] B /MR
40 141 ST T TEENER
41 139 4116 % FiT BT EIENEE
41 139 D-K BBl %Eﬂrill\"q“—‘s*z
43 138 HA INET E/NFER
44 136 TA T T e
44 136 k.s B LT BEsE /D

46 135 ysu K FHT SEb /R
47 134 40119 B LT BES R/ DNER
48 132 s.a B LT g /0N

48 132 FE N RIFTH BEHEVNFER
50 129 KS T TEE/NER
51 128 WE =K SRR /DR
52 125 U-H 5 JEET BF/INER
53 123 MK T TEE/NER
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54 121 HE1 i=Eadit] RIS
55 120 4320 AR EI T ES/NER
55 120 S.Y INET NN SR
57 118 TS INETH SEINER
57 118 KK INETH SEINER
59 116 HE9 i=Eadit] JIEE /N4
60 115 T. M. B LT =T IhER
60 115 ET D) 2HTh Rk B/
62 113 4229 2l ES/NER
63 111 4202 5% gij ES/NER
63 111 1-2 R EI ™ RE /R
65 110 4213 AT EIESIEZHA
65 110 K. N JF™H B EE /DA
67 109 SA INETH SEINER
68 108 KM JF™H KA NER
69 107 4131 oAl HS/NEKR
70 105 2-3 ;i TRE E/NER
70 105 m.k LT __AEsE/N
72 104 201 HE™H HEBE/NER
73 103 FEH = [EfT I 55 /NEER
73 103 O.R =[E T NNERINEE 5
75 102 4316 oAl EHES/NEER
75 102 S-K i Tth B TR/
77 101 ms 7K FFHT bR
77 101 1-11 T TR B 2 /NEAR
77 101 40113 B LT B ER PR/
77 101 Y-Y HET & R/IhER
77 101 MR HET INERINEE 5
82 100 2-27 Hhomh EFEINFR
82 100 4209 R E S/
82 100 m.h Ealinn BEsE /N _
82 100 KXE [BA RHFH B/
82 100 S. A RHFH B EE/NER
87 98 hk 7K S BT R LN
88 97 R.K % Fif BT P4 5E /N
89 96 M.S INVET EBUNFER
90 95 K. T RHFH B EE/NFER
90 95 FK IR F R FHHET ARER/INEEL
90 95 BES Gi=Eadit] RIANEZHA
93 92 tr K FFHT HLbNER
94 91 0-Y HEH EHRINER
95 90 0% [E411 INVETH A4 H/DNER
95 90 0% [E417 INVETH A4 H/DNER
95 90 4312 BT REYNEA
95 90 412 2HTh FKILDER
99 89 B REIK f2Hm iﬁ%%/]\fé'g
100 87 EFEEE I FiIA/NDER
100 87 HES 2Hmh [RIAEZ
102 85 4118 24 i) EES/NER
103 84 =3401 Ealihn =F/INER
104 82 TR IR FF i AT ARER/INEEL
104 82 4108 HE™H RN
106 81 4222 5% AT BT EA R /NER
106 81 N. A RIFTH ﬂ.%@/l\fé's:z
108 80 2-26 Hbhom £FINFR
108 80 ir Ik M7 HLENER
108 80 SM oAl _TEEMFAR
108 80 209 HE™H 5&”;"%/]\3—‘}
108 80 K-K HET BRINER
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113 78 04 H413 INETH 0 4 B/t
113 78 T:D B Tmh TR/
115 76 LS tREITh LN
115 76 4321 AT E S/
115 76 FER B4 f5Th TEIE /MR
118 75 H. M kI B EE /N dR
119 74 4112 AT E S/
119 74 4132 tREITh EE/NER
119 74 K.RYOU A% i AT BRI VAR
119 74 hy BELL T g/
123 73 4122 AT EES/DNFER
123 73 uy tREITh TEENFR
123 73 UN RFH KAENER
123 73 4213 #E ™ LN
123 73 214 HET HEBE/NER
128 72 2-4 AT KEF/DNFR
128 72 2-12 AR ET KEF/DNFR
128 72 Rl =8 I BHE/NER
128 72 BEY EFK fETh R
128 72 4206 HET RN
128 72 3N = [=H#T It B /INERR
134 71 4214 AR ET T =ZEfE/NER
134 71 TE AT TEENER
134 71 T.S INVET EBUNERR
134 71 1. B R 8 BB /NP AR
138 70 E I RFH BEHE/NER
138 70 4313 HET /g
138 70 117 HET HEmR/INER
141 69 TAZ Hhom = AR/
141 69 MT AR EI T TEENFER
141 69 1-4 AR Ei T KE /IR
141 69 50O £ ﬁﬁ;lﬁ TEIE/NVERR
145 68 NY INET SENMNER
145 68 MNEFH RE kI BEHE/NFER
145 68 htEEE #5:Th TEIE/INVERL
148 67 4 K FFHT FEHDNER
148 67 4307 24l ES/hER
150 66 2-9 Hhom £ERINER
150 66 4309 [ o: 0] E S /MR
150 66 2-10 T KEF/DNFR
150 66 LY INE EE

150 66 MK INVET A?/J\—T—#
150 66 W-M & Tth BT /IR
156 65 T.S INETH EBUNERR
156 65 Heh ] RFH BEHE/NFER
156 65 A BE = HT FH/NER
156 65 4104 HET RN
156 65 e 2Hmh A INER
161 64 f=L\Lw K FHT HH R/ DR
161 64 40108 B LT BES P/ DN
161 64 K-T #5:Th fE TR/
161 64 HE6 2Hm B /MR
161 64 SH = [EfT MNEINERR
161 64 HS HET MR/
167 63 ET Hhomh I INERR
167 63 ST INET SE/IMNER
167 63 sk B LT AN
167 63 n.m B LT AN
167 63 YT _E RIFTH BHEVNFER
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N al (A=ve) BE) A o

167 63 faZE & Pt =N
167 63 H-T B Tmh TR/
167 63 =24 EH f5Th B2/ PR
167 63 4101 HEH h R I/NFRR
167 63 HE3 i=Eanit] IB{E /N
167 63 =5 = [EHfT Iiff B/NERR
167 63 & =i Ik HT =FE/NFER
167 63 TW i JB/NERR
180 62 202 HEH HEBE/NMNER
180 62 BREA— = [EHfT Iiff B/NERR
182 61 K'Y Hhom IR
182 61 4314 AT E S/
182 61 B ikky 2Hm HiEE/INFR
182 61 BE7 i=Eanit] RIANEZHA
186 60 3-11 hith FEINER
186 60 2-19 Hhoh EEINER
186 60 S4109 Nt TE/MNER
186 60 40103 B LU BEs i/ DNER
186 60 EH i #5Th BIE /N
186 60 fi2 — BR 2HTh A INER
186 60 HEEKT f2Hm HEE /R
186 60 EX = [EHAT It B /INERR
186 60 M-S = JRHT BPNER
195 59 M.K oAl #LL/NERR
195 59 h.t B LU BEsE /N
195 59 k.k B LU kg B/
198 58 F.S oAl #LL/NERR
198 58 4325 oAl ES/hE
198 58 DI 5% FiT BT e TN 5
198 58 04 403 INVETH A2 A/NER
198 58 s.k B LT BEsE /N
198 58 V.S B LT BEsE /N
198 58 =%402 LU Th =R/
198 58 RM 2HTh JB/NERR
198 58 y.m f2Hm TRINERK




